10680 - BID TAB - 20-21 PPE Quote 07/09/2020 at 1:320 pm

	Vendor:	Parkdale Adva	nced Materials Inc	Nashville EM	Products Inc	Yao Interactive	Inc	KRESA REMC		Cintas Corp		Exo Safety Co		UniPak Corp		Vita Persona L	LC	Low Cost-Rx I	LC	IOT LLC		Language & M	edical Solutions LLC	Upside Health	Inc
	Iran Form?	YES		YES		YES		N/A - CONSOR	TIUM PRICING	YES		YES		YES		YES		YES		YES		YES		YES	
Items:	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Touchless Infrared Thermometers (for taking human temperatures)	50		\$0.00	\$49.0	\$2,450.0	0 \$27.00	\$1,350.00	\$79.95	\$3,997.50	\$60.0	\$3,000.00	,	\$0.00		\$0.00	\$57.60	\$2,880.00	\$52.9	\$2,649.5	0 \$42.00	\$2,100.00		\$0.00		\$0.0
3-ply Paper Surgical Masks - Adult Size	18000		\$0.00	\$0.3	9 \$7,020.0	0 \$0.50	\$9,000.00	\$0.53	\$9,450.00	\$0.4	9 \$8,820.00	\$0.48	\$8,640.00	\$0.27	\$4,860.00	\$0.46	\$8,280.00	\$0.3	\$5,400.0	0 \$0.28	8 \$5,040.00	\$0.30	\$5,400.00	\$0.35	5 \$6,300.0
3-ply Paper Surgical Masks - Kid Size	2000		\$0.00)	\$0.0	0 \$0.40	\$800.00)	\$0.00	\$0.4	2 \$840.00	\$0.48	\$960.00	\$0.40	\$800.00	\$0.46	\$920.00	\$0.4	\$800.0	0 \$0.28	\$560.00		\$0.00)	\$0.0
Fabric Masks - Adult Size	1300	\$1.00	\$1,300.00)	\$0.0	0 \$3.50	\$4,550.00)	\$0.00	\$1.1	\$1,980.00		\$0.00		\$0.00	\$2.50	\$3,250.00		\$0.0	0 \$1.25	5 \$1,625.00		\$0.00		\$0.0
Hand Sanitizer in Pump Containers - Half Gallon	250		\$0.00		\$0.0	10	\$0.00		\$0.00	\$40.0	\$10,000.00		\$0.00		\$0.00	\$34.00	\$8,500.00	\$11.5	\$2,873.7	5 \$12.50	0 \$3,125.00		\$0.00		\$0.0
Face Shields - Plastic front - Adult Size	100		\$0.00	\$3.4	5 \$345.0	0 \$3.25	\$325.00	\$0.99	\$99.00	\$3.2	\$325.00		\$0.00		\$0.00	\$2.75	\$275.00	\$1.7	\$170.0	0 \$2.00	\$200.00		\$0.00		\$0.0
Medical Grade Gloves - Latex - Medium/Large	8000		\$0.00)	\$0.0	10	\$0.00)	\$0.00	\$0.1	4 \$1,120.00		\$0.00		\$0.00)	\$0.00)	\$0.0	0	\$0.00		\$0.00)	\$0.0
Medical Grade Gloves - Non-Latex - Med/Large	2000		\$0.00	\$0.2	\$400.0	10	\$0.00)	\$0.00	\$0.1	\$280.00		\$0.00		\$0.00	\$0.10	\$200.00		\$0.0	0	\$0.00		\$0.00		\$0.0
Shipping/Handling Charges (if applicable)			\$68.00				\$0.00				\$100.00		\$0.00		\$0.00		\$981.57	7	\$0.0	0	\$0.00		\$0.00		\$0.0
GRAND TOTAL:			\$1,368.00		\$10,215.0	10	\$16,025.00		\$13,546.50		\$26,465.00		\$9,600.00		\$5,660.00		\$25,286.57	7	\$11,893.2	5	\$12,650.00		\$5,400.00		\$6,300.0
ESTIMATED DELIVERY TIME:		7-10	Days ARO	3	days ARO	10-30	Days ARO		N/A	E	OM ARO	Aug	ust 3rd-7th	1-10	Days ARO	2nd w	eek of August			10	Days ARO	1-7	days ARO		

	Vendor:	A somewhall ha	orm Services	EDC Sales	nternational LL0	<u>. 1</u>	Salk Marketing	Cuarin	The Block Mee	on Group dba BMG Me	Malar & Camp	anu la a	Catalyst PR Inc		BE Pioneers L	10	BSN Sports LL	r	Tayes Medical	Center Supply LLC	GK Trading LL	C	School Nurse	Cumply Inc	School Speci	altar Ima
		Aramark Un	oriii Services	EDG Sales	nternational LL	,	Saik Warkeling	Group	THE BIACK WICE	in Group and bivid we	Water & Comp	any mc	Catalyst PK III	;	BE Ploffeers L	LC	BON Sports Li		Texas Medical	Center Supply LLC	GK Trading LL	.6	School Nurse	Supply IIIC	School Speci	aity inc
	Iran Form?	YES		YES		[YES		YES		YES		YES		YES		YES		YES		YES		YES		YES	
Items:	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	l	Jnit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Touchless Infrared Thermometers (for taking human temperatures)	50	\$115	00 \$5,75	.00 \$2	.00	\$1,350.00	\$44.00	\$2,200.00	\$79.00	\$3,950.00	\$41.00	\$2,050.00	\$43.87	\$2,193.50		\$0.00	0 \$98.16	\$4,908.00	\$28.00	\$1,400.00	\$35.00	\$1,750.00	\$79.00	\$3,950.0	00 \$66.9	9 \$3,349.50
3-ply Paper Surgical Masks - Adult Size	18000	\$0.	\$10,80	.00 \$1	.20 \$	\$3,600.00	\$0.41	\$7,380.00	\$0.79	\$14,220.00	\$0.69	\$12,420.00	\$0.30	\$5,400.00		\$0.00	0	\$0.00	\$0.30	\$5,400.00	\$0.46	\$8,280.00		\$0.0	00 \$0.3	6 \$6,391.62
3-ply Paper Surgical Masks - Kid Size	2000		\$.00 \$1	.20	\$400.00	\$0.41	\$820.00	\$0.89	\$1,780.00	\$0.6	\$1,340.00	\$0.32	\$640.00		\$0.00	0	\$0.00	\$0.30	\$600.00	\$0.46	\$920.00		\$0.0	00	\$0.00
Fabric Masks - Adult Size	1300	\$2	19 \$3,23	.00 \$.75	\$7,475.00	\$2.25	\$2,925.00	\$6.95	\$9,035.00	\$0.96	\$1,248.00	\$1.25	\$1,625.00	\$3.0	0 \$3,900.00	0 \$1.89	\$2,457.00	\$1.00	\$1,300.00	\$1.25	\$1,625.00		\$0.0	00 \$8.0	3 \$10,443.55
Hand Sanitizer in Pump Containers - Half Gallon	250	\$29	30 \$7,50	.60 \$1	.00 \$	\$3,750.00		\$0.00	\$25.00	\$6,250.00	\$29.00	\$7,250.00		\$0.00		\$0.00	0	\$0.00	\$8.00	\$2,000.00		\$0.00	\$34.75	\$8,687.5	50 \$38.5	2 \$9,630.63
Face Shields - Plastic front - Adult Size	100		\$.00 \$.25	\$325.00		\$0.00	\$4.25	\$425.00	\$1.99	\$199.00	\$1.35	\$135.00		\$0.00	0	\$0.00	\$1.50	\$150.00	\$2.90	\$290.00	\$4.18	\$418.0	00 \$3.3	4 \$334.00
Medical Grade Gloves - Latex - Medium/Large	8000		\$.00 \$1	.12	\$960.00	\$0.21	\$1,680.00	\$0.24	\$1,920.00	\$0.3	\$2,640.00	\$7.97	\$63,760.00		\$0.00	0	\$0.00	\$0.10	\$760.00		\$0.00)	\$0.0	00	\$0.00
Medical Grade Gloves - Non-Latex - Med/Large	2000		\$.00 \$0	.12	\$240.00	\$0.21	\$420.00	\$0.17	\$340.00	\$0.36	\$720.00	\$9.97	\$19,940.00		\$0.00	0	\$0.00	\$0.10	\$190.00	\$0.15	\$290.00)	\$0.0	00	\$0.00
Shipping/Handling Charges (if applicable)			\$1,63	.80				\$0.00				\$0.00		\$0.00		\$0.00	0			\$0.00		\$0.00		\$0.0	00	\$0.00
GRAND TOTAL:			\$28,93	.40	\$1	18,100.00		\$15,425.00		\$37,920.00		\$27,867.00		\$93,693.50		\$3,900.00	o	\$7,365.00	5	\$11,800.00		\$13,155.00		\$13,055.5	50	\$30,149.30
ESTIMATED DELIVERY TIME:		7-	10 Days ARO	1	-14 Days ARO	T i	14-22	Days ARO	14-3	0 Days ARO	Ne	et 30 Days	12	Days ARO	2 \	veeks ARO	2-4	weeks ARO	15	Days ARO	3-6	weeks ARO	7-10	Days ARO	45	Days ARO

	Vendor:	Capitol Medica	al Supply Inc	Supply 55 Inc		Utech Products	s Inc	SafetyCo		Global Geeks		US Health Expr	ress Corp	Prestige Impo	rts	Zee Company		DMX Supply		Santa Cruz Bio	otechnology Inc	Really Good S	tuff LLC	Tri-Tech Fore	nsics Inc
	Iran Form?	YES		YES		YES		YES		YES		YES		YES		YES		YES		YES		YES		YES	
tems:	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
ouchless Infrared Thermometers (for taking numan temperatures)	50		\$0.00		\$0.00	\$43.00	\$2,150.00	\$57.50	\$2,875.00	\$29.99	\$1,499.50	\$50.00	\$2,500.00		\$0.	00	\$0.0	0 \$50.0	\$2,500.00		\$0.00	\$99.99	\$4,999.50		\$
-ply Paper Surgical Masks - Adult Size	18000	\$0.50	\$9,000.00	0	\$0.00	\$0.15	\$2,700.00	\$0.55	5 \$9,900.00	\$0.02	\$270.00	\$0.19	\$3,420.00)	\$0.	00	\$0.0	0 \$0.2	\$4,500.00)	\$0.00	\$0.80	\$14,396.40	\$0.4	\$8,10
-ply Paper Surgical Masks - Kid Size	2000	\$0.50	\$1,000.00	0	\$0.00	1	\$0.00)	\$0.00	\$0.30	\$600.00	\$0.30	\$600.00)	\$0.	00	\$0.0	0 \$0.2	\$500.00		\$0.00	\$0.74	\$1,479.60	0	
abric Masks - Adult Size	1300	\$2.10	\$2,730.00	\$2.98	\$3,874.00	\$2.30	\$2,990.00	\$4.95	5 \$6,435.00	\$1.10	\$1,430.00		\$0.00)	\$0.	00	\$0.0	0 \$2.5	\$3,250.00)	\$0.00	\$5.00	\$6,499.3	5	3
land Sanitizer in Pump Containers - Half Gallon	250)	\$0.00	0	\$0.00		\$0.00	\$34.85	5 \$8,712.50	\$29.99	\$7,497.50		\$0.00	\$12.1	0 \$3,025.	00 \$17.0	0 \$4,250.0	0 \$24.0	\$6,000.00	\$25.40	0 \$6,350.00	\$9.99	\$2,497.50)	\$
ace Shields - Plastic front - Adult Size	100	\$9.00	\$900.00	0	\$0.00	\$1.40	\$140.00	\$5.20	\$520.00	\$1.99	\$199.00	\$1.00	\$100.00)	\$0.	00	\$0.0	0 \$9.5	\$950.00)	\$0.00	\$8.00	\$799.90	\$1.9	99 \$19
Medical Grade Gloves - Latex - Medium/Large	8000)	\$0.00	0	\$0.00		\$0.00		\$0.00	\$0.18	\$1,440.00	\$0.15	\$1,200.00		\$0.	00	\$0.0	0 \$0.2	\$2,000.00		\$0.00	\$0.18	\$1,479.20		\$
Medical Grade Gloves - Non-Latex - Med/Large	2000	\$0.19	\$380.00	0	\$0.00		\$0.00	\$18.90	\$37,800.00	\$0.18	\$360.00	\$0.08	\$160.00		\$0.	00	\$0.0	0 \$0.2	\$500.00		\$0.00	\$0.07	\$139.40		\$
Shipping/Handling Charges (if applicable)							\$175.00						\$400.00		\$225.	00			\$0.00		\$0.00		\$0.00)	\$19
GRAND TOTAL:			\$14,010.0	D	\$3,874.00		\$8,155.00		\$66,242.50		\$13,296.00		\$8,380.00		\$3,250.	00	\$4,250.0	0	\$20,200.00		\$6,350.00		\$32,290.8	5	\$8,49
ESTIMATED DELIVERY TIME:		10-1	4 Days ARO	Imm	diately ARO	2-3	Days ARO	Imme	ediately ARO	7-12	days ARO	10	days ARO	1	day ARO	5	days ARO	2-3	Weeks ARO	2-5	5 days ARO	7-10	days ARO	<3	0 days ARO

	Vendor:	Gemma Suits L	.TD - Mask Supply Store	Lion Surface In	c dba Alliable Medical	MCT Pro Tools I	nc	Parkpine Inc		Detroit Sewn In	c	Pioneer Produc	ts Inc	PPEM Plus LLC	;	MSC Industrial	Supply	Beach Capital G	roup LLC	JAM Industrial	Company Limited	Katt Medical Pr	oducts	Hanes Brands	1
	Iran Form?	YES		YES		YES		YES		YES		YES		YES		YES		YES		YES		YES		YES	
Items:	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Touchless Infrared Thermometers (for taking human temperatures)	50		\$0.00		\$0.00	\$38.00	\$1,900.00	\$45.00	\$2,250.00		\$0.00	\$69.98	\$3,499.00		\$0.00	\$89.99	9 \$4,499.5	0 \$29.99	\$1,499.50		\$0.0	10	\$0.00		\$0.00
3-ply Paper Surgical Masks - Adult Size	18000	\$0.30	0 \$5,400.00	\$2.39	\$43,020.00	\$0.26	\$4,680.00	\$1.00	\$18,000.00		\$0.00	\$0.30	\$5,400.00	\$0.40	\$7,200.00	\$0.49	9 \$8,820.0	0	\$0.00	\$0.8	0 \$14,400.0	10	\$0.00		\$0.00
3-ply Paper Surgical Masks - Kid Size	2000		\$0.00)	\$0.00		\$0.00	\$1.00	\$2,000.00	\$3.36	\$6,720.00		\$0.00	\$0.40	\$800.00)	\$0.0	0	\$0.00)	\$0.0	10	\$0.00		\$0.00
Fabric Masks - Adult Size	1300		\$0.00	\$2.64	\$3,432.00	\$2.40	\$3,120.00	\$2.00	\$2,600.00		\$0.00	\$2.50	\$3,250.00		\$0.00	\$3.49	9 \$4,537.0	0	\$0.00		\$0.0	0 \$1.2	\$1,625.00	\$1.07	\$1,391.00
Hand Sanitizer in Pump Containers - Half Gallon	250		\$0.00)	\$0.00	\$18.50	\$4,625.00	\$13.50	\$3,375.00		\$0.00	\$25.00	\$6,250.00		\$0.00	\$30.70	0 \$7,675.0	0	\$0.00		\$0.0	10	\$0.00		\$0.00
Face Shields - Plastic front - Adult Size	100		\$0.00)	\$0.00	\$1.77	\$177.00	\$2.00	\$200.00		\$0.00	\$5.00	\$500.00		\$0.00	\$3.4	5 \$345.0	0	\$0.00		\$0.0	10	\$0.00		\$0.00
Medical Grade Gloves - Latex - Medium/Large	8000		\$0.00)	\$0.00		\$0.00	\$0.15	\$1,200.00		\$0.00	\$0.15	\$1,200.00		\$0.00	\$0.10	0 \$799.2	0	\$0.00		\$0.0	10	\$0.00		\$0.00
Medical Grade Gloves - Non-Latex - Med/Large	2000		\$0.00		\$0.00		\$0.00	\$0.15	\$300.00		\$0.00	\$0.15	\$300.00		\$0.00	\$0.19	9 \$386.6	0	\$0.00		\$0.0	10	\$0.00		\$0.00
Shipping/Handling Charges (if applicable)							\$0.00		\$1,500.00				\$0.00		\$0.00				\$0.00		\$0.0	10	\$0.00		\$0.00
GRAND TOTAL:			\$5,400.00		\$46,452.00		\$14,502.00		\$31,425.00		\$6,720.00		\$20,399.00		\$8,000.00		\$27,062.3	0	\$1,499.50		\$14,400.0	0	\$1,625.00		\$1,391.00
ESTIMATED DELIVERY TIME:		2 w	veeks ARO	Imme	ediately ARO	7 d	ays ARO	7 d	ays ARO	Imme	ediately ARO	7 (days ARO	1 v	veek ARO	3-5	days ARO	7-14 days ARO		5-7 days ARO		1 week		10 days ARO	

	Vendor:	Critical Supplies	Inc	Chemical System	ms Inc	Vehicle Mainten	ance Program	Maybe Mars LLC	2	Found X Inc		Cirrus Quality S	ervices	School Health II	nc	Superior Busine	ess Solutions	Dia Medical LLC		Uweport LLC		Zemlick LLC		ESTCO Enterp	ises Inc
	Iran Form?	YES		Yes		YES		YES		YES		YES		YES		YES		YES		YES		YES		NO	
tems:	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
ouchless Infrared Thermometers (for taking uman temperatures)	50	\$30.00	\$1,500.00		\$0.00	\$34.11	\$1,705.50		\$0.00	\$25.00	\$1,250.00	\$44.99	\$2,249.50	\$88.24	\$4,412.0	0 \$40.00	\$2,000.0	\$69.50	\$3,475.00	\$42.50	\$2,125.00	\$50.0	\$2,500.00		
-ply Paper Surgical Masks - Adult Size	18000	\$0.28	\$5,040.00	1	\$0.00	\$0.18	\$3,240.00	\$0.12	\$2,142.00	\$0.26	\$4,680.00	\$0.35	\$6,300.00	\$0.43	\$7,740.0	0 \$0.40	\$7,200.0	\$0.35	\$6,300.00	\$0.23	\$4,140.00	\$0.4	\$7,200.00	\$0.28	8 \$5,04
-ply Paper Surgical Masks - Kid Size	2000	1	\$0.00	1	\$0.00	\$0.24	\$480.00	\$0.13	\$258.00	\$0.26	\$520.00		\$0.00	\$0.50	\$1,000.0	0 \$0.25	\$500.0	\$0.69	\$1,380.00	\$0.26	\$520.00		\$0.00		
abric Masks - Adult Size	1300	\$0.95	\$1,235.00		\$0.00		\$0.00		\$0.00	\$1.10	\$1,430.00	\$2.99	\$3,887.00	\$1.43	\$1,859.0	0 \$0.85	\$1,105.0	\$0.64	\$832.00	\$1.49	\$1,937.00	\$1.0	\$1,300.00	\$5.29	9 \$6,87
land Sanitizer in Pump Containers - Half Gallon	250)	\$0.00	\$18.82	\$4,705.00		\$0.00		\$0.00		\$0.00	\$13.99	\$3,497.50	\$20.00	\$5,000.0	0 \$22.00	\$5,500.0	\$56.50	\$14,125.00	\$4.50	\$1,125.00	\$17.5	\$4,374.38		\$
ace Shields - Plastic front - Adult Size	100	\$1.89	\$189.00		\$0.00	\$2.49	\$249.00		\$0.00	\$1.25	\$125.00	\$3.99	\$399.00	\$4.05	\$486.0	0 \$2.00	\$200.0	\$2.75	\$275.00	\$1.90	\$190.00	\$13.8	\$1,547.00	\$1.68	8 \$16
Medical Grade Gloves - Latex - Medium/Large	8000	1	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	\$4.84	\$38,720.0	0 \$0.15	\$1,200.0	\$0.16	\$1,280.00	\$0.13	\$1,040.00		\$0.00		\$
Medical Grade Gloves - Non-Latex - Med/Large	2000		\$0.00		\$0.00	\$0.13	\$260.00		\$0.00		\$0.00	\$0.14	\$279.80	\$14.00	\$28,000.0	0 \$0.30	\$600.0	\$0.16	\$320.00	\$0.13	\$260.00		\$0.00		\$
Shipping/Handling Charges (if applicable)		•			\$410.00		\$0.00				\$510.00		\$300.00		\$0.0	0	\$549.0	0	\$0.00		\$0.00		\$0.00		\$
GRAND TOTAL:			\$7,964.00	7	\$5,115.00	1	\$5,934.50		\$2,400.00		\$8,515.00		\$16,912.80		\$87,217.0	이	\$18,854.0	o l	\$27,987.00		\$11,337.00		\$16,921.38		\$12,08
ESTIMATED DELIVERY TIME:		2 w	eeks ARO	6-7	days ARO	5-7	days ARO	7 d	lays ARO	10-25	days ARO	3 w	eeks ARO	3-5	Days ARO	Var	ies by Item	1-30 days ARO		14-21 days ARC)	1-2 weeks ARC)		

	Vendor:	ICS Corporation	ı	AVE Solution																			
	Iran Form?	YES		YES																			
:	Quantity	Unit Price	Total Cost	Unit Price To	tal Cost	Unit Price	Total Cost Un	it Price Total Co	st Unit Price	Total Cost	Unit Price	Total Cost Unit Pric	Total Cost	Unit Price	Total Cost	Unit Price To	tal Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
ess Infrared Thermometers (for taking temperatures)	50	\$55.15	\$2,757.50	0 \$75.00	\$3,750.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00		\$0.00		\$0.0
Paper Surgical Masks - Adult Size	18000	\$0.33	\$5,940.00	0 \$0.62	\$11,160.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00		\$0.00		\$0.0
Paper Surgical Masks - Kid Size	2000	\$0.57	\$1,140.00	0 \$0.39	\$780.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00		\$0.00		\$0.0
Masks - Adult Size	1300	\$3.45	\$4,485.00	0 \$3.97	\$5,161.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00		\$0.00		\$0.0
Sanitizer in Pump Containers - Half Gallon	250	\$10.99	\$2,747.50	0 \$43.88	\$10,970.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00		\$0.00		\$0.0
Shields - Plastic front - Adult Size	100	\$5.00	\$500.00	0 \$2.02	\$202.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00		\$0.00		\$0.0
cal Grade Gloves - Latex - Medium/Large	8000	\$0.08	\$600.00	0 \$0.30	\$2,400.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00	1	\$0.00		\$0.0
al Grade Gloves - Non-Latex - Med/Large	2000	\$0.06	\$120.00	0 \$0.13	\$260.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00		\$0.00		\$0.0
ing/Handling Charges (if applicable)		•	\$0.00	0 \$0.30	\$136.44		\$0.00					\$0.00	\$0.0	00			\$0.00		\$0.00		\$0.00		\$0.0
D TOTAL:			\$18,290.00	0.13	\$34,819.44		\$0.00		\$0.00	\$0.00	<u> </u>	\$0.00	\$0.0	00	\$0.0	0	\$0.00		\$0.00	1	\$0.00	1	\$0.0
ESTIMATED DELIVERY TIME:		By Aug	gust 14, 2020	7-14 Da	vs ARO																		